VT No. 50-0959
TRIM RAIL KIT

General

This kit is designed for use on all FL models equipped with
fiberglass saddlebags.

This kit contains the following parts:

QTY DESCRIPTION

Bolt, 1/4 - 20 x 3/4in.
Washer, 1/4 in. flat
Lockwasher, 1/4 in.
Washer, rubber

Pad, rail mounting
Trim rail, left

Trim rail, right

ek 2N N ONONe)]

installation

NOTE
See fliustration. The position of the trim raif is critical. If the
trim rail is mounted too far forward, it will interfere with the
passenger grab rail when the saddlebag lid is removed.

&cauTion
Before marking and drilling holes, protect paint
onsaddlebag cover by applying masking tape over the
hole locations.

1. See lllustration. Position the front of the trim rail
approximately 1 to 2 inches from the front of the
saddlebag lid. Hold the trim rail in place and remove the
saddlebag lid to be sure the trim rail will not interfere
with the passenger grab rail when the saddlebag lid is
removed. When you are sure the trim rail is in the
proper location, mark the three mounting points with a
grease pencil.

2. Drill three 17/64 in. holes at locations determined in
Step 1.

3. Place mounting pads on each leg of trim rail so leg
seats in pad. Set rail on saddlebag cover.

4. Place the following washers on the three 1/4 - 20 x 3/4
in. bolt in the order given: first the lockwasher, next the
flat washer, then the rubber washer. Attach rail to
outside of saddlebag cover with these three bolts. Do
not use Loctite and do not over-tighten.

5. Repeat procedure for second saddlebag cover.

<._1-2in.

Trim Rail Location



